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Pages 2 – 3: Who do you suppose the Maker might be?  (INF)
Accept any reasonable inference, however the most probable inference to make would be that the Maker is one of the Gods.  

Page 3: Which homophone on this page means ‘to be without cover’?  (WORDS)
bare

Page 4: Which of the following best describes the meaning of ‘larder’ as used on this page?  Tick one.			(WORDS)
	A cold place where squirrels hibernate during winter.
	A place used for storing food.
	A place where food is bought and sold.
	A cold place where food is prepared.

Pages 2 – 5: What two problems were caused Squirrel’s large size?  (KNOWL)
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She stripped the fields and woods quite bare.
There was no tree big enough to hold her winter larder.  

Page 9: Find and copy out both of the similes on this page.		(LANG)
Simile 1
eyes like golf balls


Simile 2
jaws like a digger

Page 12: Which word on this page means to shout loudly?			(WORDS)
bellowed

Page 14: Which animal on this page was the correct size to begin with?	  (KNOWL)
the mouse

Page 19: Why did the Maker decide to make the elephant larger than all of the other animals?	(INF)
The elephant plays wonderful music and the maker was worried that his small size would mean that he could be easily stepped on.

Pages 22 – 23: What did Whale agree to do?	(KNOWL)
The whale agreed to fill the oceans with song (in return for being larger).

Pages 26 – 29: How were birds different before the maker changed them?  Describe 2 ways.  (KNOWL)
They were larger and couldn’t fly/had no wings.

Page 29: Which word on this page is the past-tense of weave?	(WORDS)
wove
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